Exercise answer section 

Chapter 11

Two-Sample Tests of Hypothesis 

Exercise 11.1

Let population 1 refer to Youngsville and population 2 refer to Claredon.
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H0 is rejected if z is greater than 1.65.
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H0 is rejected. It takes Youngsville longer to respond to emergency runs.

Exercise 11.2

Let population 1 refer to women.
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H0 is rejected if z is greater than 1.65.
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H0 is not rejected. The proportion of smokers is the same.

p-value = P(z > 0.86) = (0.5000 ( 0.3051) = 0.1949, The p-value of 0.1949 ( 0.05, do not reject H0 .

Exercise 11.3

Let population 1 refer to the mall and population 2 refer to downtown.
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H0 is rejected if t is greater than 2.552.
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H0 is not rejected. There is no difference in mean amount spent at the mall and downtown store. p-value is greater than 0.10.

Exercise 11.4

Let population 1 refer to Omaha and population 2 refer to Kansas City.
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Use [11-8] to approximate d.f. for t .
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 Round d.f. for t down to 148. 
H0 is rejected if t is greater than +1.976 or t < -1.976 (Excel used to find t ).
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H0 is not rejected.  There is no difference in mean selling prices of home in Omaha and Kansas City.

Exercise 11.5
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Reject H0 if t is less than (2.365 or greater than 2.365.
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	265
	260
	5
	3.375
	11.390625
	
	

	271
	270
	1
	–0.625
	0.390625
	
	

	260
	250
	10
	8.375
	70.140625
	
	

	250
	255
	(5
	–6.625
	43.890625
	
	

	248
	250
	(2
	–3.625
	13.140625
	
	

	280
	275
	5
	3.375
	11.390625
	
	

	257
	260
	(3
	–4.625
	21.390625
	
	

	262
	260
	  2
	0.375
	0.140625
	
	

	
	Total
	13
	
	171.875
	
	


H0 is not rejected. There is no difference in the heating cost.
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